
Y5  Wed. 1st  July   

Today  you  will solve more problems.  

It  will  help  if  you  have  3 types  of  measurements  to  convert them all to the same 

unit of measure  e.g   3kg  and   0.8 kg   and   650 grams. Would it be easier here to 

convert them all to grams  or  to  kg using a decimal? However, if you converted to kg 

to calculate and the answer specifically  asked for the result in grams  you must 

present the final answer in grams. Read questions  carefully. 

Empty number lines help with time duration problems like this: 

 

SECTION  A    1) 

 

 

 

 

 

 

 



 

SECTION  B 

 

 

 

Scroll down  for  answers…. 

 

ANSWERS 

SECTION  A 

1a) 8 pieces   b)  1,750 grams    c) 4km    d)  11,000  grams 

2  a)  50 minutes   b)  8 and a half  hours   c) 10  hours  and  10 minutes    

SECTION  B 

1a)  8 boxes    b)  7 full boxes    c)  15  balls   d)  7  boxes   e)  12  cars  f)  8 full vases   g) 13 pages 

 


